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. SINGLE CHOICE (30%.cach guestion 2%)

In a summer of 2017, a typhoon swept through Taiwan, resulting in soaring price of vegetables. Amongst, the price of bean
sprouts rose from $10 per kilogram to $20 per kilogram. However, the daily trading volume of bean sprouts from 8 per tons
increased to 14 per ton. What elasticity can be calculated? What is the elasticity amount?

(A) Supply elasticity is 0.82
(B) Supply elasticity is 0.60 -
(C) Supply elasticity is 0.75 ©
(D) Demand elasticity 15 0.55 o
{E) Demand elasticity is 0.33 «

Choose the correct statement:

(A) The greater the slope, the smaller the elasticity °

(B) The longer the time, the greater the supply elasticity e

(C) The longer the time, the greater the demand elasticity -

(D) The smaller the slope, the smaller the elasticity -

(E) The size of the slope has nothing to do with the size of the elasticity ©

If the Jonglin Refrigerator is lowered separately from $15,000 to $10,000, and the monthly sales volume will increase from
10,000 units to 20,000 units. Ask: What is the elasticity of demand.

(A) 0.60 - (B) 0.50 - (C) 2.00 - (D) 1.50 - (E) 1.67 -

People often complained: North second highway is opened, but the traffic still seems to remain the congestion situation. What
is the best economic terms that can explain the above discussion:

(A) Increasing returns to scale.

(B) Short-term productivity unchanged.
(C) Supply creates its own demands/needs.
(D) Compare advantage law.

(E) Liquidity trap exists.

Chi-Ming is over thirty and still unmarried, and finally think seriously to marry with Miss Cun-Jiao. However, He still
hesitated and worried to meet another more lovely lady although Miss Cun-Jiao is very cute. What is the best economic terms
that can explain the above discussion:

(A) Economies to scale.

(B) Decreasing marginal returns.
(C) Opportunity cost.

(D) Compare advantages.

(E) Normal profit.

The final exam will be held after ten days. Lee Tian-Tsai chooses four courses in this semester. The credits are Chinese 4
credits, English 4 credits, Civil Law 2 credits, China General History 2 credits. Student Lee wants to maximize his average
score (the average score is calculated as the sum of the product of the subject test scores and the credit score, and then is
divided by the total credit score). He knows that he prepares for each subject the more one day, how the subject's score will
increase. However, he does not know how to allocate his time to prepare for the four subjects. He has learned that you are the
best man in calculating because you are major in economics. How do you use What kind of economic concept for you to
choose to answer this question to Lee Tian-Tsat.

(A) Economies to scale.

(B) Decreasing marginal returns.
(C) Opportunity cost.

(D) Compare advantages.

(E) Normal profit.
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Mr. Nobita is very busy since his boss hands over a lot of things. Now Nobita’s Mom wants him to accompany with her to see
a doctor in the evening, while his girlfriend calls him to help her to move something. At this time, Nobita had to choice between
his boss, mother, and girlfriend. At this point, what is the principle of economics should be considered.

(A) Full employment principle.

(B) Principle of diminishing marginal utility.

(C) Pareto optimum principle.

(D) The principle of constant short-term productivity.
(E) Economic rent minimization principle.

Assuming you are the boss of Din-Tai-Fung restaurant, and you have four employees. Chen Fei-Ge can work 240 small
dumplings for eight hours a day. Lin Shuang-Ye can do 270 small dumplings for ten hours a day. Wang Ku-Mei can make 300
small dumplings for 12 hours a day. Lee La-Mei can work 360 small dumplings for 15 hours a day. If you are the boss of
Ding-Tai-Fung, you want to give the performance evaluation in accordance with the principles of performance outputs. Who
should win the superior prize.

{A) Chen Fei-Ge ©

(B) Lin Shuang-Ye ©

(C) Wang Ku-Mei -

(D) Lee La-Mei °

(E) Four people enjoys the same performance appraisal °

Peter is faced with a choice. He loves his work and he has an endless stream of creative ideas. The boss asked him to travel
with him and promised him to get CASE, and obtain the promotion and salary increase; his wife asked him to go home and
spend their anniversary tonight; good friends invited him to join the partnership business, and there are great opportunities to
earn money and go to school to earn a master's degree through finishing training courses. What is his best choice according to
Maslow's hierarchy need theorem of human-being.

(A) Work hard.

(B) Travel with the boss.

(C) Go home and accompany with his wife.
(D) Talk with friends about business.

(E) Go to schoo! for further studies.

Both Maogo and Youge are men who have married for seven years. Two people met in a day. Maogo said that he was busy
with work. His marriage was facing a “seven-year itch” and was in jeopardy. Youge said that he spend time to talk with his
wife in an elegant restaurant appointment every week. His children are arranged to be taken care by others. His marriage is
very flourish and happy. They exist a great deal of difference. What types of functions of micro-economics that Youge
understands and has been applied the love function to the real daily activities.

(A) Production function.
(B) Cost function.

(C) Profit function.

(D) Supply function.
(E) Demand function.

If the manufacturer sells the same product on the domestic markets and international markets, then:

(A) It means that the firm is facing two markets.

(B) If the demand elasticities between two markets are the same, differential pricing can be employed.
(C) If consumers can resell each other in both markets, differential pricing can be employed.

(D) The profits in differential pricing is inevitably higher than that of a single price.

(E) All of the above.
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You find a special wood on the road when you enjoy your travel in Japan. You take the wood to home and your friend, who 1s
an artist, he bought this wood with 600 dollars. Your friend designs a model to the wood and sells this wood to the gallery
with 6,000 dollars. Later on, a millionaire buys the model with 60,000 dollars in the fall of the gallery. Five years later, the
millionaire dies and this model is transferred to the art store and is sold to a rich woman with 600,000 doilars. Ask: what is
the increments of the GNP this year ?

(A) 5,400 dollars (B) 60,000 dollars (C) 540,000 dollars (D) 600,000 dollars (E) 54,000 dollars.

Choose the correct statement:

(A) Miss Liu worked in the sightseeing hotel. She quits this job when she gets marmed. Thus, the unemployment rate in Tatwan
will decline.

(B) Miss Lee worked in the sightseeing hotel. She quits this job when she gets married. Thus, the unemployment rate in Taiwan
will be unchanged.

(C) Other things being equal, when we count the voluntary soldier into the Iabor force in Taiwan, the unemployment rate in
Taiwan will increase.

(D) If there are 10,000 persons applying to the admittance examination on the Taiwan Power Company, which desires to
include only 100 new personnel. Thus, we can infer that the unemployment status is serious in Taiwan.

(E) If there are 10,000 persons applying to the admittance examination on the China Steel Company, which desires to include
only 100 new personnel. Thus, we cannot infer that the unemployment status is serious or not in Taiwan.

If the price level in the United States is 110, the price level is 120 in Taiwan, and the nominal exchange rate is 20NT per dollar,
what is the real exchange rate from the Taiwan’s perspective 7

(A)253 - (B)26.5 - (C)27.5 - (D) 28.6 - (E)18.3 -
If you are the boss of McDonalds and you have four personnel. Mr. FLY can produce 48 burgers within eight hours per day.
Mr. JOY can produce 54 burgers within ten hours per day. Mrs. STAR can produce 63 burgers within 12 hours per day. Mrs.

LUCKY can produce 72 burgers within 15 hours per day. According to the economic productivity theory, who should be
honored by the highest productivity:

(A) Mr. FLY, (B) Mr. JOY, (C) Mrs. STAR, (D) Mrs. LUCKY, (E) Four persons all equal.

QUESTIONS: (20%. each question 4%)

Lee Da-Qian estimates the empirical results for instant noodles for the logarithmic demand function as follows:
Ln(D) =16 + 0.40 Ln(Y) ~ 0.30 Ln(P) + 0.01 Ln(D) + 0.08 Ln(F)
(2.54) (-3.11) (1.98) (2.04)

F=14.687 R>=0.887
However, Wang Xiao-Qian estimates the empirical result of instant noodles is a straight line demand function as follows:

D=16+0.42(Y)-0.81 (P) + 0.04D) + 0.0 (F)

(1.85) (0.41) (2.05) (1.09)

F=5.801  R?=0.685
Where D is demand of instant noodles, Y is income, P is price of instant noodles, D is days of raining in a year, F is sale
amount of fried pork noodles. The number in parentheses is the t-value.

Questions:

1. Lee Da-Qian or Wang Xiao-Qian, Who's coefficient of the estimating result is more useful and valid, Why?

2. Who's estimating result is more convinced, Why? that is, How high is the explanatory power of the model in his
estimation, How confident you can trust him?
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3. What is the price elasticity of demand for instant noodles? Lee Da-Qian or Wang Xiao-Qian will claim that it owns
price elasticity of demand, who do you believe in? If the price of noodles reduced, the company's revenue will increase
or will decrease? Why?

4. What is the income elasticity of demand of instant noodles? And, is noodles a normal goods? Why?
5. Fried pork noodles are substitute goods or supplement goods of instant noodles? Why?

1. (50%) Macroeconomics:

Short-Essay Questions: All questions may be answered in either English or Chinese. Please note that you are allowed to
make necessary assumptions for conducting the analysis.

US President Donald Trump's newly unveiled strategy identified China as U.S. rivals that are "attempting to erode
American prosperity," and he accused Beijing of unfair trade practices. Meanwhile, Trump are expected in the near
future to announce results on issues like steel and intellectual property theft that could result in tariffs on Chinese goods.
"] expect a trade war to emerge in the first part of the year (2018)," said Scott Kennedy.

Assume that the costs and benefits of tariffs are measured on the basis of consumer surplus, producer surplus, and

government tariff revenue.

1. (20%) If U.S. imposes a tariff on imports of steel from China, please employ the partial equilibrium analysis to
analyze the effect of the above steel tariff on U.S. consumers, producers and government. What is the net effect of

the above steel tariff on U.S. economy?

2. (5%) Ifit is a small country, instead of U.S., to impose a tariff on imports of steel from China, based on the result of
previous question, what is the net effect of the above steel tariff on such a small country?

3. (15%) Please graphically analyze the effect of the U.S. import tariff imposed on China steel on the price
level, the exchange rates, imports and exports in China. Is it good or bad for China economy?

4. (10%) Atrade war is possible to result if U.S. imposes a tariff on imports of steel from China. Please use an example
of prisoner’s dilemma to illustrate the problem of trade warfare.
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